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| English Version |
i N. 5.~ Numbers in the right margin indicate jull marks for ihe questions |

Part A——Algebrs

Marks
Eoowar Wite down the square related algebraic Riimulas - 2
() f{a+'b¥ = What
. 2 . .
(fi) (2 = by = What's
3 s 2 - . y oA -
() Using the above formulas formulate theformula of wh.
(e} Why do we appiy aigebraic formulas? 3
. ! : ; . : PR | P2 19
2. Using the propertics of proportion, show that if el Bl
4 A
) xtag - x&h
high === =iy
. X-a x-b
“ ) AL X ua ' i-b 4 5 LA find i ; r
o x B ofpe ——- e - o N « 0l Q T <‘ A i o { A g
L (e} It o p o, ienfind out the value o S
(b) In a two digit aumber. the summation of twa digit S
number 5 15 and the multiplication is 56, whai is the
number ?
§ u‘] oy 2 4
~ . 4 i
4 () 1f a:b=b:c then prove thar, ~= )
¢ e+
(5 Circumicrence of & tiiangle is 36 cm and the ratio of leagth of
every side ie.3 - 4 « 3, then find out the length of bi yizest side
of the tdangle.
5. An auditor invested a portion ot Tk. 56,000 at simple intcrest rate 14

of 5% and the rest at 4%. At the cud of the year he act a rotal
iterest of Th. 2.560. How much money did he invest at the rate
of 4% intercst?

| Please turn over



(e} Supplementary angk for 130° is

()  Given that, & 4BC =

~width and area

8
Part B — Geometry

Fill in the bianks :

(@) If the summanon of two angles of a triangle is %0, then

the third angle is .

{n Areaof g triangle Es . ool

icy  Suin of the two sides ul atr langle is
side.

___ than the third

(@) lmeter = oches.

Right triangic
BC' = 16 cm [ Land base ]
A = 10 cm | Height ]
Praw the triangle and find out the area of the triangle.
(&) Givenihar, AARC = Equilateral triangle
AR = BC = CA4 =6 cm

Praw the triangle and find out the area of the triahgle.

The dength of a rectangle house is 15 times higger than the
is 384 square meter, then find out the length,
width circamference and diagonal of the reciangle house.

Diameter of 2 circular garden is 306 meter. There is a § meter
wide road ali around the dutside of the circuiar garden. Find out
the arca of the garden and of the road. {Given that A = 3-1416 ]

A gardenis 30 meters in icngth and 20 meters in breadth. it has
a 5 meter wide road around outside the garden. What will be the
total expenditure of planting grass on 1he road at the rate of

Tk S0 per square meter ?

Marks - P"\

2x5=10. .Qr}?/

2

[£¢]
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{English Version]

iN.B. - Numbers in the right margin indicate full marks for the questions./

Part A—Algcbra
Marks
1. (a) Simplily - . 5
6268 2xBy2h1 .
5x26%y  5c2aY i
5 ¢ ..3 = 2
(&) lrJ.'='2i and )':%,‘ find Lhcva]ueof-l_‘l—‘x— : 5
. P 5 22
2. Solve the following = 5+5=10
(a) 2:5y -6 26y + 2,
LA

(b) x+2y =5, 2x 4 y=41.
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[English Verswn ]
[N B.—Numbers on the nght hand side wdtcate full marks for the questions.)

Part A—Algcbra’

Marks
1. (a) Simplify:— ‘ ' Sl

9x3p*
- 3x4p2°
s x2_ 3y 5
() If x=5, y=3 findthe value of 5—%*, -
: , yd.4+ Bx
2. Solve the following equations:— 5+5=10
oA o B
(a) 5x-3=3x+73.
(b)x—9>3x + 1
3. The total ages of A, B and C is 63 years. If the ratio of 10
their ages is 2 ¢ 3 ¢ 4, find the age of each of them.
4. (@) Ifxsy=3:4andy:z=516 findxs y:z. ’ q
(b) The ratio of the.angles of a triangle is 334 35, What are 6

the angles in degrees?

5. If the number is added to the square of the number, the 10
total becomes 42. What is the number?

Part B—Gcometry
. Pill up the blanjas

(a) Complementary angle for 75° is

(b) Supplementiary angle for 120° is

(¢) Each of the equal angles of an isosceles triangle is 50°.

The third angle is

(d) 1square meter =—— square centimeter.

(e) 5 square centimeter = square millimeter.

' [Please turn o



2 fedi The lenpth and breadth of a rectangulae land is 50 m
and 30 me respeetively. Find the area and the perimeter of the
Fand

D Conver into fractions: -

S5 R I o o

3 fas The base of a triangle is 10 em and the height is 8 em.
Find the arcaof the triangle. ) B

h) The length, breadth and height of a water tank are 150 em,

FOO ¢m and 80 ¢cm respectively. Find the volume of the tank.

A (s If the diameter of a circle is 20 cm, find the arca of the
circle 1n square meters.

(b! The salary of an auditor reached - Tk. 6,000 with the
tacrease of 209% of his salary. What was his salary before the
increasce?

5. The length. breadth and height of a room are 20 m, 15 m

and 10 m respectively.- What will be the total cost of painting the

walls of the room at the rate of Tk. 50 per square meter?

VEYUE: |

(3,1
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